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QUESTION 1

Which set of protocols provide block-level access to NetApp storage?
A. CIFS and NFS

B. iSCSI and FCP

C.HTTP and FTP

D. SNA and RPC

Correct Answer: B

QUESTION 2

Given the content of the /etc/quotas file, select the appropriate answer. What would the default limit for the user wesson
for the volume /vol/wmv be if their explicit quota of 75 MB of disk space and 75K files was removed from the /etc/quotas
file?"

A. 50MB disk space, 15K files

B. 750MB disk space, 85K files

C. 100MB disk space, 75K files

D. 75MB disk space, 75K files

Correct Answer: A

QUESTION 3
Applications, such as databases, running on NAS or iSCSIl or FC SAN mustbe
A. prepared for snapshots by flushing buffers to disk and momentarily suspending activity.
B. disconnected from their storage resources during the snapshot.

C. using dynamic multipathing during a backup.

D. mirrored with a host-based volume manager to be backed-up.

Correct Answer: A

QUESTION 4
Which command shares out the directory /vol/vol2/home using the share name "netapp"?

A. cifs shares -add netapp /vol/vol2/home
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B. cifs shares -add /vol/vol2/home/netapp
C. cifs shares -add netapp /vol/vol2
D. None of the above

Correct Answer: A

QUESTION 5

Which three are used for creating LUNs on the storage appliance? (Choose 3)
A. lun create

B. lun setup

C. FilerView

D. lun config

Correct Answer. ABC

QUESTION 6

Which command displays the credentials the storage system has stored in memory for a particular user account?
A. cifs

B. wcc

C. showcred

D. mem_disp

Correct Answer: B

QUESTION 7

If you are receiving RPC timeouts, the following troubleshooting steps would be appropriate:
1) Verify that the RPC is enabled.

2) Verify that the NFS daemons are running.

3) Verify that the correct mount points have been created.

A. True

B. False

Correct Answer: A
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QUESTION 8

You are having problems accessing three recently-created LUNs. Given the output below, the reason is because all of
the LUNs are using the same LUN ID of 0.

lun show =m

LUK pata Happed to LUN ID
swolsovyolls land solaris-i1groupl ]
Swalsvall-slunl windows—i1group 0
svolsvoll /gtresl lunl alx=1lgroup ]
“wolsvoll /gtreel-luni lirur—igroup 0

A. True
B. False

Correct Answer: B

QUESTION 9

Which two commands can be performed with the SnapDrive for Windows graphical user interface? (Choose 2.)
A. Create Disk

B. Create VLD

C. Connect Disk

D. Convert VLD to LUN

Correct Answer: AC

QUESTION 10

NTFS allows file access based on
A. NT ACLs and UNIX permissions.
B. SID and password.

C. NT ACLs and SID.

D. UNIX permissions.

Correct Answer: C

QUESTION 11
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What is the outcome of this command? lun create -b /vol/vol2/.snapshot/testsnap/lun0O /vol/vol2/lun0.clone
A. It creates a duplicate of the clone process of lun0.

B. It creates a clone of the writeable snapshot of luno.

C. It creates a writeable snapshot of lunO.

D. It creates a snapshot "testsnap" of vol2.

Correct Answer: C

QUESTION 12

If you believe you have a FC SAN performance problem, which NetApp utility or command would gather both your
Solaris host and storage appliance data for analysis?

A. poststat
B. perfstat
C. prestat
D. sio_ntap.exe

Correct Answer: B

QUESTION 13

In an iISCSI target configuration, there are two ISWT adapters. The purpose of adapter iswta is for local traffic. What is
the purpose of the iISCSI target adapter iswtb?

A. Itis used for partner traffic in a clustered Windows host environment.

B. It is used for partner traffic in a clustered storage appliance environment.
C. Itis used for iISCSI network traffic when iswta is exceeding thresholds.
D. It is used for iISCSI network traffic when iswta has failed.

Correct Answer: B

QUESTION 14

Which two will allow you to read and analyze a packet trace file generated by the storage appliance? (Choose 2)
A. pktt

B. Netmon

C. Eternal View
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D. Ethereal

Correct Answer: BD

QUESTION 15
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You receive an error message from an iSCSI host stating there is an authentication error. Which command would you

use to troubleshoot the failure?
A. iscsi security delete

B. iscsi security generate

C. iscsi show adapter

D. iscsi security show

Correct Answer: D

Latest NSO-153 Dumps

Latest NS0-153 Dumps | NS0-153 VCE Dumps | NS0-153 Exam Questions

NS0-153 VCE Dumps

NSO0-153 Exam Questions

6/6


https://www.pass4itsure.com/ns0-153.html
https://www.pass4itsure.com/ns0-153.html
https://www.pass4itsure.com/ns0-153.html
http://www.tcpdf.org
https://www.pass4itsure.com/ns0-153.html
https://www.pass4itsure.com/ns0-153.html
https://www.pass4itsure.com/ns0-153.html

